
SPARE PARTS LIST
PAGE 1

MODEL NO. HR2410

ITEM PART NO. DESCRIPTION QTY NOTE
001 286265-0 Porvédo sapka*   1
003 416410-5 Fúrótokmány-fedél, forgó felfo   1
004 323820-8 Fúrótokmány-gyuru, forgó felfo   1
005 344205-5 Fogantyútartó kengyel HR2410/H   1
006 266092-1 Négylapú csavar M8x60 HR2010/H   1
007 267719-6 Négyszögu alátét 9 HR2010/HR24   1
008 213313-2 Olajtömítés 20 HR2410/HR2010*   1
009 150965-7 Fogaskerékház, komplett HR2410   1
010 266069-6 Önmetszo csavar M4x45   4
011 211323-3 Golyóscsapágy 6904LLU*   1
012 231962-3 Rugós gyuru 26 HR2410   1
013 267132-8 Lapos Alátét 29 HR2410   1
014 233109-5 Nyomórugó 29 HR2410   1
015 226290-9  fogazású kúpfogaskerék 48 HR2   1
016 216022-2 Acélgolyó 7,0, forgó felfogósz   1
017 216011-7 Acélgolyó 5,6 216011-7   4
018 323822-4 Szerszámtartó HR2410, …-hez   1
019 267129-7 Lapos Alátét 27 HR2410/KH0500   1
020 213063-9 O-gyuru 10 213063-9*   1
021 323818-5 Ütoszeg, forgó felfogószerkeze   1
022 213117-2 O-gyuru 11 HR2410/HR2010/HK050   1
023 322740-3 Dugókulcs HR2410   1
024 213214-4 O-gyuru 16 213214-4*   1
025 331446-2 Hengerdugattyú HR2410   1
026 256099-5 Csapszeg 6 256099-5   1
027 212005-0 Tugörgos csapágy 810 212005-0   1
028 331447-0 Hajtórúd HR2410*   1
029 322741-1 Forgattyús tengely HR2410   1
030 211098-4 Golyóscsapágy 699ZZ   1
031 267130-2 Lapos Alátét 9 HR2410   1
032 211099-2 Golyóscsapágy 689ZZ   1
033 159761-0 Forgattyúház, komplett HR2410*   1
034 212110-3 Tugörgos nyomócsapágy 1224 212   1
035 226726-8 Egyenes kúpfogaskerék 12 HR241   1
036 226434-1 Fogaskerék 31 HR2410*   1
037 911576-1 Trapézfeju csavar M4x50 911576   3
039 251392-2 Lencsefeju csavar M4   1
040 152471-8 Átkapcsoló kar, komplett HR241   1
041 213261-5 O-gyuru 17 213261-5   1
042 931202-6 Hatlapú anya M5 931202-6   1
043 415658-6 Fogantyútartó kengyel HR2410/H   1
044 265720-5 Szárnyas csavar M5x14   1
045 135344-0 GRIP 36 ASS'Y HR2410 new   1

INC. 5-7,42-44
047 213720-9 O-gyuru 67 213720-9   1
048 159760-2 Belso ház, komplett HR2410   1
049 211051-0 Golyóscsapágy 6909LLB*   1
050 241883-1 Ventilátorkerék 60 HR2410   1
051 517403-6 Forgórész 220V HR2410   1 220V

INC. 50,52,53
052 681661-1 INSULATION WASHER  new   1
053 211021-9 Golyóscsapágy 607LLB   1
054 253842-3 U-alakú lapos alátét 14 253842   1
055 415628-5 Légterelo lap HR2410   1
056 211012-0 Golyóscsapágy 606ZZ*   1
057 226293-3 Homlokfogaskerék 10 HR2410   1
058 633313-0 Állórész 220V HR2410   1 220V
059 253744-3 Lapos Alátét 12   1



SPARE PARTS LIST
PAGE 2

MODEL NO. HR2410

ITEM PART NO. DESCRIPTION QTY NOTE
060 233089-5 Nyomórugó 12 233089-5   1
061 322743-7 Tengelykapcsoló-bütyök HR2410*   1
062 267131-0 Lapos Alátét 8 HR2410   1
063 226725-0 Egyenes kúpfogaskerék 14 HR241   1
064 233110-0 Nyomórugó 8 HR2410   1
065 857630-6 NAME PLATE HR2410   1
066 415630-8 Fogaskerék-burkolat HR2410   1
067 911526-6 Trapézfeju csavar M4x16 911526   2
068 416970-7 Motorház HR2410, új   1
069 682516-3 Kábelvédo 9,3-85   1
070 665865-3 Power supply cord  1.0-2-2.5   1
071 687052-4 Kábel-feszültségmentesíto 6870   1
072 265995-6 Önmetszo csavar M4x18*   2
073 650514-5 Kapcsoló UMBAU I   1
074 645253-0 Zajszuro kondenzátor 645253-0*   1
075 643923-5 Szénkefetartó 643923-5   2
076 191962-4 Szénkefe CB-419 (CB-406, CB-40   1
077 266052-3 Önmetszo csavar M4x60 4   2
078 415629-3 Kapcsolókar HR2410   1
079 819063-3 MAKITA címke*   1
080 415627-7 Fogantyúburkolat HR2410   1
081 266045-0 Önmetszo csavar M4x20   4
083 233203-3 Nyomórugó 38 …-hez, piros   1
084 231979-6 Rugós gyuru 17, forgó felfogós   1
085 231936-4 Rugós gyuru 30,5, fogó felfogó   1
086 323819-3 Rugóvezeto persely HR2410, for   1
087 233234-2 Nyomórugó 35 HR2410, forgó fel   1
088 232190-3 Laprugó 26, forgó felfogószerk   1
089 256447-8 Csapszeg 8, forgó felfogószerk   1
090 344690-2 Vezeto tárcsa HR2410, forgó fe   1
A01 321144-6 Mélységméro vezetosín HR18/200   1
A02 824445-6 PLASTIC CARRYING CASE   1
B01 134925-7 CHOKE COIL ASS'Y   1

INC. E07
B02 134926-5 CHOKE COIL ASS'Y   1

INC. E06
E06 646089-0 CHOKE COIL  new   1
E07 646088-2 CHOKE COIL   1
E09 122573-4 CHUCK ADAPTER for SDS-Plus   1
E10 192892-2 KEYLESS DRILL CHUCK   1
E11 122823-7 KEYLESS DRILL CHUCK ASSEMBLY   1



SERVICE DRAWING
PAGE 1

MODEL NO. HR2410


